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fAFATI T A& T eaTeTqder qfgT 31X 3eTent UTelet SITaT|

Read the following instructions carefully and follow them.

L.

Y YeT-IT 7 39 7T & | it uest 31faard 1

This question paper contains 39 questions. All questions are compulsory.
RA-U7 ©: GUsl H [AHTSId g GUS &, @, I, €, TG 5 |

The question paper is divided into six sections, Sections A, B, C, D and E.
GUS & - TT TEAT | H 16 T [AhedIa TR & T4 & | Tedeh 9T | IF &

Section A - Question numbers 1 to 16 are multiple choice type questions. Each question carries
1 mark.

GUS @ - YT TEAT 17 8 27 3T T -3 TR & YR & | Tedeh TReT 2 3ehl T g1 ST FRaAT T 3T
40 ersat T 378 T81 for@r ST anfg |

Section B - Question numbers 17 to 27 are very short answer type questions. Each question
carries 2 marks. The answer to these questions should not exceed 40 words.

QUS 37 - JT HET 28 A 35 TG-30RIT YR o T & | Ycdeh TReT 3 3ehl T | ST TRl T 37X 60
el & 31fieh w7gT forgr e =g e

Section C - Question numbers 28 to 35 are short answer type questions. Each question carries 3
marks. Answers to these questions should not exceed 60 words.

YU © - YT TEAT 36 T 38 ETH-3TT ThR & YA & | TcAP YR 4 37ehT T & | SoT Y&AT T 371 120
erser I 37 8T forar e =anfg vl

Section D - Question numbers 36 to 38 are long answer type questions. Each question carries 4
marks. Answers to these questions should not exceed 120 words.

WUS § W2 HEAT 39 ATATIS shirel TR 9T &, Tores &y s &- 39 (i) sfaderd (3 i) 31139 (i)
3ITST (3 37h) | 3 T2 oh el 6 3eh &

Section E Question number 39 Map is a skill based question consisting of two parts- 39 (i)
History (3 marks) and 39(ii) Geography (3 marks). This question carries a total of 6 marks.



(TISF) 1x16=16
( Section A) 1x16=16

STel ShTH Biehell g A dTfds, JUT I 33 o197 ST & et avgT AT 2

a) TS b) Afca=ir ¢) fazars d) A
Who said, “When France sneezes, Europe catches cold”?

a) Garibaldi b) Mazzini c¢) Bismarck d) Matternich
FfafEd & & fhe Afd T = AHfes T @ AGTerzeT i grm o7 2

a) 3ToS, I, Scoll, T b) 33ei3, 3T, T, &9

¢) 3TEET, 9, &4, foea (d) Tre=T, o, &4, 3ol

Which of the following groups of powers collectively defeated Napoleon?
a) England, France, ltaly, Russia b) England, Austria, Spain, Russia
c¢) Austria, Prussia, Russia, Britain  d) Britain, Prussia, Russia, Italy

SIfeTITaTeAT S19T gcTehis el E3T 2
a) 13 31 1918 b) 13 318 1919 ¢) 13 AT 1919 d) 13 AL 1919

When did the Jallianwala Bagh massacre take place?

a) 13 April 1918 b) 13 April 1919 c) 13 March 1919  d) 13 May 1919
GHNRY JTARISATIN T T e & [T AN TATALOT 7 3Telet] g TS ohl &gl Silell o-
a) Sieafarhr b) TETHA ¢) Ui dereafd  d) @i
Everything available in our environment to fulfill our needs is called

a) Technology b) Resources c) Natural Vegetation d) Minerals

30, 37, IRY 5T BH & YR §-

a) HoFehl b) YTt ¢) AR d) SeRT

Os, Aman, Boro are types of which crop-

a) Maize b)Paddy c)Sorghum d)Millet

HR A il Yo B HITH g-

a) I, IHAA, I b) W&, @UF, G ¢) HCl, ATael, S8 d) WA, T, AT

There are three main crop seasons in India-

a) Os, Aman, Boro b) Rabi, Kharif, Zaid

¢) Bhadon, Shavan,, Basant d) Summer, Winter, Monsoon
ST TR & AR 301 & T AT FTdecarr@arg, A sA Fed & -
a) efard &1 &ifaer faavor b) TdT T ST

¢) qar e faawor d) TSP T HTHeT s faavor

When power is distributed among different organs of government, it is called-
a) Horizontal distribution of power  b) Coalition of power

c¢) Federal distribution of power d) Community distribution of power
AfaeTeT I AT ¥t 1 AfFd fra h I & 2
a) Shog, AP b) ToT TIHPR ¢) ST d) FIS TG |

Who has the power to interpret the constitution?
a) Central government b) State government c¢) Court c) None.
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AR TeneT & 8 dF 3eTeet A foheialy $1TwIC 8 2

a) 15 b) 20 c) 22 d) 24
How many languages are there in the 8th schedule of Indian constitution?
a) 15 b) 20 c) 22 d) 24

HR o fohdl To 1 RIS Y X ATA AL ?
a) HTeT b) [AgR ¢) ST USY  d) Uole

Which state of India has the lowest infant mortality rate?

a) Kerala b) Bihar c) Uttar Pradesh d) Punjab

AR & oliait hr ey 37 afafafer Far g

a) Y b) 3T c) Har & d) IS LT |

What is the main economic activity of the people in India?

a) Agriculture b) Industry  c) Service sector d) None of the above.
T A @ it AT 31T et ATl & & H AT Te2 T STANET LT 5?2
a) Teg AT b) e c) T d) S

Which one of the following Industries uses limestone as a raw material?

a) Aluminium b) Cement c) Sugar d) Jute

T 3 TS g TehR ST ATEET & 2

a) STehicieh TTEET b) ATATSATAT ATHET  ¢) HTART gHAT d) ST A PIS g
Bhopal Gas Tragedy is which type of tragedy?

a) Natural tragedy b) Man-made tragedy

c) Terrorist attack d) None of the above

WA 3R fohe & a1 AgcaquT § 2

a) AT b) Ter o) AT N B d) 3781 A ey

What is important in a first aid kit?

a) Soap b) Bandage c) Antiseptic cream d) All of the above

JTYST YaeieT H AT &

a) el b)JAferaToT ¢) erdTd d)3TRIFT T

Disaster Management includes

a) Mitigation  b) Reconstruction c) Rehabilitation d) All of the above

HRT H HIHT A Hled ST AT & ?

a) GG b) IRAT Readed ¢ faaq dare d) Te d& 3w sfear

Who issues currency notes in India?

a)Parliament b)Reserve Bank of India ¢)Ministry of Finance d)State Bank of India

(@vs-®) 11x2=22
(Section-B) 11x2=22
HIRATIT o1 ATSHeT ShHTQUeT T TR FT fhaT 2

Why did Indians oppose Simon Commission?
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1930 T FGTHTGT o HROT for?

Write the reasons for the Great Depression of 19307

g1 T o e 70T fora |

Write two characteristics of intensive agriculture.

3 T HATEATA Y FHTTIT et aTel TieT AT T SR S|
State three human factors affecting the location of industries
Silehdl o Aeh cOaEUT  ATATTET T S§R FAT ATAT ST &7

Why is a democratic system considered better than dictatorship?
AFICIRAShdr 3R Sfadre & &7 3ed] 82

What is the difference between communalism and casteism?
QXY &¥HT A AT et hdel T hig el faferal geisy|

Suggest any two methods of generating employment in urban areas.
fafesar & &9 & 1S HaT ha AT gIei g 2

When is a currency accepted as a medium of exchange?
ORI 87aaT o foIT aleT T 3Tehfay wardy e 87

Which shape is best for earthquake resistant buildings?

JTYCT JeTEIeT HGel FATE 2

What is disaster management mitigation?

GRS IUTR AT 8?

What is first aid?

(GUsS-3I) 8x3=24

(Section-C) 8x3=24
STHAT & ThIHIOT T Ufshar &1 qute Hfw 2
Describe the process of unification of Germany?
H 7 TSEATE, T TGN ool H HEOT HEPT o fohH FehR AerereT feam
How did the print culture contribute to the promotion of nationalism in India?
GTEX 3R TR 7 R TISC A2
Differentiate between Khadar and Bangar?
Sta TATaYdr 37 82 Ig ATd Sitdel o ot 1 3TaeTF & ?
What is biodiversity? Why is it essential for human life?
R hr et 7 Afgensit & gfafafaeg fr fufa Farg 2
What is the status of women representation in the legislatures of India?
IASET HYATAT fohdl TR TG I fAIT0T I@AT § 2
How do national companies control production?
Ardsifoieh fadvoT JuTTel! &7 &7
What is the public distribution system?
@ISt 3R ST el & HET 3¢ AT 6?2 Tg I3V Toh &of T ITSeT hil hiall AFT?

What are the main objectives of the search and rescue team? Explain how the team should be
formed?
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(@US-H) 3x4=12
(Section-D) 3%x4=12

SAIETET STt o STl HIfgeh Tgilel ol HTd YT it o ol BT ShiTerl AT o T SheH 3STT?

What steps did the French revolutionaries take to create a sense of collective identity among the
French people?

31yar (Or)
1921 # 3HEIIT 3Melelel # AMA glat arel Tl ATATISTeh Hegl T TN TSV $Heh dlG 31 4
fohegl et oY TeT T SeTehl M3 IR Hersl & TR H foIEd gU T SATST o I 3MicTeled & ATTA Fai
g? ”
K/Iake a list of all the social groups that joined the Non-Cooperation Movement in 1921. After this,

choose any three of them and write about their hopes and struggles to show why they joined the
movement.

Y ScuTee H gt AR it & folv THR G@RT T 91T 3917 18T
Suggest measures taken by the government to ensure an increase in agricultural production.
31yar (Or)

TRagsT TUT TAR & TTENT fordY &2 i 3rTcaaear &1 ShiasT QT 347 &g ST 82

Why are means of transport and communication called the lifeline of a country's economy?

3MYfeh AhdifIeh cTTATHT H TAT AT ATSHERT o 3HlIT-37eldT AL FAT §? $TH & Ycdh HT Th
3ETEROT AT € |

What are the different ways of power sharing in modern democratic systems? Give one example
of each of these.

3725 (Or)
MhdT fFg e 3R, FFATR 3R 3¢ TIHR &7 TS HLdT 8?2

How does democracy create a responsive, accountable and legitimate government?

(TUB-5) 1x6 =6
(Section-E) 1x6 =6

(i) R & AT 7 g2MT -
(i) Show in the map of India :-

&) AT ueer

a) Himachal Pradesh

) ATF 3G af Ao

b) Two rice producing states

aT) ST &

c¢) Krishna river

) 7SS

d) Mumbai

) el

e) Kerala

) SaTedd

f) Lakshadweep




(i) Taeg & AT F gMT -
(i) Show in the map of the world :-
) TG T IARHT
a) United States of America
@) g
b) Ukraine
1) 3meeferar
c) Australia
) 3RT R
d) Arabian Sea
SEGEGEEA
e) Amazon River
) Arcient
f) Sri Lanka



Social Science 10th, Distribution of Marks

Courses of Study Chapters Marks | Remarks
India & the Contemporary 1. The Rise of Nationalismin | 20 MCQ 3x1 =3
World -ll Europe Very Short

Nationalism in India

The Making of a Global
World

The Age of Industrialization
Print Culture and the
Modren World

ok wN

Answers 2x2 =4
Short Answers
2x3=6

Long Answers
1x4=4

Map Work 1x3=3

Democratic Poltics -ll 1. Power Sharing 14 MCQ 3x1 23
2. Federalism Very Short
3. Gender, Religion and gﬂs:tvirs 2x2 =4
ort Answers
Caste. . . 1x3=3
4. Political Parties Long Answers
5. Outcomes of Democracy dPet=t
Understanding Economic 1. Development 14 MCQ 4x1=4
Development 2. Sectors of the Indian Very Short
Economy Answers 2x2 =4
3. Money and Credit Short Answers
4. Globalization and the India 2%x3=6
Economy
5. Consumer Rights
Contemporary India -l 1. Resources and 20 MCQ 3x1=3
Development Very Short
2. Forest and Wildlife Answers 2x2 =4
Resources Short Answers
3. Water Resources 2x3=6
4. Agriculture Long Answers
5. Mineral and Energy 1x4=4
Resources Map Work 1x3 =3
6. Manufacturing Industries
7. Lifelines of National
Economy
Disaster Management 1. Introduction 12 MCQ 3x1=3
2. Tsunami-The Killer Waves Very Short
3. Survival Skills Answers 3x2 =6
4. Alternative Communication Short Answers
Systems.... during 1x3=3
Disasters
5. Safe Construction
Practices
6. Sharing Responsibility
7. Planning ahead. by the

people, for the people

Total

80




Social Science Class 10th
Division of Marks

Sr.No. | Type of Marks No. of Total
Questions Awarded Questions Marks
1. MCQ 1 16 16
2. Very Short 2 11 22
Answers
3. Short Answers 3 08 24
4. Long Answers 4 03 12
5. Map Works 6 01 06
Total | —- —- 39 80




